
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

8, 656 × ________ = 8656 7, 084 × ________ = 708.4

7, 717 × ________ = 771.7 6, 543 × ________ = 65.43

1, 983 × ________ = 1983 8, 165 × ________ = 81.65

9, 077 × ________ = 9077 2, 012 × ________ = 201.2

6, 645 × ________ = 6645 10, 577 × ________ = 1057.7

5, 886 × ________ = 5886 7, 34 × ________ = 73.4

5, 774 × ________ = 57.74 6, 673 × ________ = 667.3

6, 99 × ________ = 69.9 4, 268 × ________ = 42.68

7, 351 × ________ = 7351 10, 367 × ________ = 1036.7

3, 792 × ________ = 379.2 5, 968 × ________ = 59.68
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

8, 656 × 1000 = 8656 7, 084 × 100 = 708.4

7, 717 × 100 = 771.7 6, 543 × 10 = 65.43

1, 983 × 1000 = 1983 8, 165 × 10 = 81.65

9, 077 × 1000 = 9077 2, 012 × 100 = 201.2

6, 645 × 1000 = 6645 10, 577 × 100 = 1057.7

5, 886 × 1000 = 5886 7, 34 × 10 = 73.4

5, 774 × 10 = 57.74 6, 673 × 100 = 667.3

6, 99 × 10 = 69.9 4, 268 × 10 = 42.68

7, 351 × 1000 = 7351 10, 367 × 100 = 1036.7

3, 792 × 100 = 379.2 5, 968 × 10 = 59.68
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